
ELECTROLUX OUTDOOR PRODUCTS

The Electrolux Group.The world’s No.1 choice.

brand MC CULLOCH date FEB/03 SHEET 1/2

Model Product number

LM3540P 953878015

953878016

www.ersatzteil-service.de

Ihr Ersatzteilspezialist im Internet



ELECTROLUX OUTDOOR PRODUCTS

The Electrolux Group.The world’s No.1 choice.

[ [Pos PN ELX PN MEP Q.ty Note[ [

1 531206027 10 1466 33 1 lever

2 531207409 10 6514 00 1 pin

3 531206438 10 1653 30 1 cable

4 531206069 10 1501 23 1 handle

5 531205581 10 1356 00 1 clamp

6 531207089 10 4024 01 2 screw  M8X50

7 531207090 10 4024 02 2 wascher Ø 8,5

8 531204923 10 1143 03 2 knob

9 531205169 10 1214 70 1 cable hook

10 531207165 10 5012 00 1 nut M6

11 531204961 10 1159 00 2 washer

12 531208491 20 2818 00 1 nut

13 531208950 20 8333 03 2 plug

16 531207107 10 4078 00 3 screw M8x60

17 531207981 20 1062 00 6 washer Ø 8E

18 531205732 10 140213 3 spacer

19 531204904 10 0663 00 3 washer

20 531207982 20 1063 00 5 nut M8

21 531204907 10 1009 00 1 key

22 531206390 10 1650 21 1 plug

23 531206690 10 2928 00 2 washer

24 531206416 10 1651 70 1 tie- rod

25 531206399 10 1650 50 1 spring

26 531206422 10 1652 01 4 plug

27 531207977 20 1016 00 4 screw

28 531206405 10 1650 91 4 plug

29 531206401 10 1650 73 4 wheel

30 531207989 20 1130 00 4 washer

31 531206415 10 1651 63 2 support

33 531206419 10 1651 93 2 support

34 531207242 10 5316 00 1 blade adapter

35 531207243 10 5317 00 1 washer

36 531206216 10 1580 13 1 blade

37 531207237 10 5309 00 1 washer

brand MC CULLOCH date FEB/03 SHEET 2/2

LM3540P

38 531207086 10 4006 00 1 screw

39 531206395 10 1650 33 2
grass-catc-

her

40 531207408 10 6513 00 1 cotter pin

42 531207122 10 4289 00 3 washer

44 531207937 10 8780 00 2 screw

53 531206455 10 1655 03 1 housing

54 531210704 10 1656 03 2 handle

55 531211104 10 1656 31 1 deck

www.ersatzteil-service.de

Ihr Ersatzteilspezialist im Internet




